
B. A./B.Sc. 3rd Semester (General) Examination, 2021 (CBCS)

Subject : Economics

Paper : CC-1C/GE-3

(Development Economics)

Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in

their own words as far as practicable.

øé¬Ì √õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/ ¬Ûı˛œé¬±Ôœ«Àı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any six questions 5×6=30

ïÀ˚ Œfl¬±ÀÚ± Â˚˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. What is institution? Write a note on the evolution of political institutions.

√õ∂øÓ¬á¬±Ú øfl¬∑ ı˛±ÊÕÚøÓ¬fl¬ √õ∂øÓ¬á¬±ÀÚı˛ øııÓ«¬ÀÚı˛ ›¬Ûı˛ ¤fl¬øÈ¬ È¬œfl¬± Œ˘‡/

b. Write a short note of A.G. Frank's dependency theory.

¤øÊ ÙË¬±ÀÇ¬ı˛ øÚˆ«¬ı˛Ó¬± Ó¬ÀMWı˛ ¬Î¬◊¬Ûı˛ ¤fl¬øÈ¬ ¸—øé¬l øÈ¬fl¬± Œ˘‡/

c. Explain the methods that can be commonly used in measures of inequality.

Õı¯∏˜… ¬Ûøı˛˜±À¬Û ¸±Ò±ı˛ÌÓ¬ Œ˚ ¬ÛX¬øÓ¬ ı…ı˝±ı˛ fl¬ı˛± ˝˚˛ Ó¬± ı…±‡…± fl¬ı˛/

d. Write a short note on the role of per capita real income as on index of development.

’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛ÀÚı˛ ¸”‰¬fl¬ ø˝¸±Àı ˜±Ô±ø¬ÛÂ≈ √õ∂fl‘¬Ó¬ ’±À˚˛ı˛ ˆ”¬ø˜fl¬± øı¯∏À˚˛ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛/

e. Write a short note on Human poverty Index.

˜±Úıœı˛ ±øı˛^ ¸”‰¬Àfl¬ı˛ Î¬◊¬Ûı˛ ¤fl¬øÈ¬ ¸—øé¬l øÈ¬fl¬± ø˘‡/

f. Briefly discuss the relationship between development and inequality.

¬’Ô«ÕÚøÓ¬fl¬ Î¬◊iß˚˛Ú › ∆ı¯∏À˜…ı˛ ˜ÀÒ… ¸•Ûfl«¬ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛/

g. Explain how does democracy affect economic growth.

¬·ÌÓ¬La fl¬œˆ¬±Àı ’Ô«ÕÚøÓ¬fl¬ ¸ ‘̃øX¬Àfl¬ √õ∂ˆ¬±øıÓ¬ fl¬Àı˛ ı…±‡…± fl¬ı˛/

h. Discuss briefly the necessity of economic planing in a less developed country.

¶§Àä±ißÓ¬ ŒÀ˙ ’Ô«ÕÚøÓ¬fl¬ ¬Ûøı˛fl¬äÚ±ı˛ √õ∂À˚˛±ÊÚœ˚˛Ó¬± ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛/
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2. Answer any three questions 10×3=30

ïÀ˚ Œfl¬±ÀÚ± øÓ¬ÚøÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±›ó

a. What do you mean by Human Development Index? Describe how the Human

Development Index is calculated.

˜±Úı Î¬◊iß˚˛Ú ¸”‰¬fl¬ ı˘ÀÓ¬ fl¬œ Œı±Á¬∑ ˜±Úı Î¬◊iß˚˛Ú ¸”‰¬fl¬ fl¬œˆ¬±Àı ·ÌÚ± fl¬ı˛± ˝˚˛ Ó¬± ıÌ«Ú± fl¬ı˛/

b. Briefly discuss the dependency theory of Paul Baran.

¬Û˘ ı…±ı˛±ÀÚı˛ øÚˆ«¬ı˛Ó¬± Ó¬MWøÈ¬ ¸—Àé¬À¬Û ’±À˘±‰¬Ú± fl¬ı˛/

c. Explain the Harrod-Domar model.

˝…±ı˛Î¬-ŒÎ¬±˜±ı˛ ˜ÀÎ¬˘øÈ¬ ı…±‡…± fl¬ı˛/

d. What is unbalanced Growth? Explain Hirschman's theory of unbalanced growth.

’¸˜?¸… ¸ ‘̃øX¬ fl¬œ∑ ˝±˙«˜±ÀÚjı˛ ’¸˜?¸… ¸ ‘̃øX¬ Ó¬MWøÈ¬ ı…±‡…± fl¬ı˛/

e. Write a note on different forms of foreign investment in under developed countries.

Î¬◊iß˚˛Ú˙œ˘ ŒÀ˙ ∆ıÀø˙fl¬ øıøÚÀ˚˛±À·ı˛ øıøˆ¬iß Òı˛Ú&ø˘ı˛ Î¬◊¬Ûı˛ ¤fl¬øÈ¬ øÈ¬fl¬± ø˘‡/
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